ledue #3

Resigtors
= Lv
k=l
AR _ ARn AL AW Vot . —Ko¥x %
R Psin L r\zm\ " _N_ + ¥ o/
—— o~
o..NPP#&N.wrv Nu _nd..\/ .
2 2 2 p Ji—N\ Vowl
Teriey = (orsarea) T T iag) T Tcawmw) \<|—W C = 1bpf
A 1
W Vour (
b_f:os.www TVUm | \iaRC
_mv Zluaw&@n I|A|.



Vi— .\<ma R= Rpom £ 20% Rponm
cI/\.l\ H.o.NNsa?
ﬁa |/.| NH —A ?\63 —_ —N’og
’|>\<ll ’ +\Noo\¢
——AN—
Rnom
R = , ,, LN\
ﬁ l.ﬂH...u e IWI,. - = .MMV. .v
gy = L

AN

RN

—AN—
Po 4



No protesms V6 v
+u~voa\o . DSoS)
I\.WOG\G ” mSOS\.

3+ 5077



m._\+ T N I e YA
NO DN Na%v .NS..q bk u ’.:.w
Rrom=  0-7Rs WP
NSO:)P ~ —
( e t
Ro op  2(aK)
ﬁnUT ﬂ_w DR,
—
4/ - = 1
R 0»5 \i i) _ T
, 2L
BR= Rige ¥ ZRon D
2A0F = 2 Rudre T 2Regn —(V)



DN — :5:\< O.NWS?
.d\ _Ngcw cL&S.S
i
2(BRo) Pn cr\,.N\
2Ln 0-18
\v
L
Il)?rlfLm |
47 42 0-24

0%

|
AR = DRy A Rwos




v0q) 3

Q0 0}



